10km

100

120




B BH{E#A5/27-5/31 UNFERA11/1-11/20
0.3 33
X —— R —o— {ik ——
P 28
T 0.2 (A 0 \N\
£ el e
B o1 3 \\‘\\’\\
u:L W \\‘\. E 18
5 B e
0.0 13 ) ) 1 ) 1 L 1 \
§T2$E8288¢88388-:. 2 2 8 8 2 8 8 2 3
R8R®LILLLLls ¢ & & & & L & L2
A:1996 TiR% B3 TR B3k
B BA{ERAS/17-5/21 I HERA10/25-12/6
0.3 33
wemey SR Sl —— {E i
N wi ek —a— 28 . o o o
i V\O—o\.
)
; 13 1 L 1 L L 1 L L
BEZERES8 s ggesgges 2 @ 8 8 2 82 8 & 8
é) é> é> é g ﬁﬁﬁﬁﬁﬁﬁﬁ = - — — E I_.(_") —1 l-: —
Tt ¥8gs88888¢8 € 2 8 8 8§ 8 8 & 8
B:1999 A% B3 iR% A3
M1 & TRDIKER) BE0HEXE L AR RIBHEB ORI I 04RO h
[# D)
WFFEaRfa4 - U X AEEICBIT ARELRED =D OEMPLK & B BT ofesT

TR X 5 B RAOKERT BT = A ER)

Wt %2 3

D ERR 12 FEBE (FRk 8 ~12 4E)
WroEHYE - G, 7

2, g%




